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Chapter-11

AVERAGE

WORKSHEET

1. Fillin the blanks :

a. The _Q_\/_Q_WLQ_@Q;W of a set of values is the sum of the values divided by the number
of values in the set.
Average is a number which is roughly between the smallest and the ld)l.g eAﬂ‘
number or quantity.

c. The average gives us an idea about the general value of a povp

d. The average is the mﬂm} meo)  value of the number of given values.

e. Sum of the values = Average x NUTL/7. 0F values

Do as directed :

3) Find the average of 1% five prime numbers.

Ans. Lt Dot 7L

- 18%154 - —51—2” iS"e

b) What iS?hé\a%erage weight: 14g, 16g, 36g, 42¢g
Ans. \HH{)*E{éﬂl
== =
Y
=108 -~
8 = 273
c) Find the average if number of item is 15 and the total value of item is 105 .
Ans. Numbﬂzflfg \tem = \S
~ -
Totol verme =106
= 105 -
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d) Find the average of 715 1 7 ‘

Ans. . & T 2 r AL 33

7 9 % ‘

!

Z6X5_ L 9w vuxS | - 33
I Bry 1XS 5

=804 S _ G5 |

_ 35 3% e
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e) Find the missing value: No. of item are 21 and average is 21 then Sum of the items is

Ans. Sum of  vems

—No 65 yems X Average

-—

= 2] %x2)
=44)
3. Solve as per the given instructions:
a) The average height of a family of five is 150cm, if the height of 4 family members is 153cm,

150cm, 151cm, and 152cm, find the height of the fifth rpember. +h .
Ans. Totql, heig.hl’ oS 5 memb&zs So, ?e:g)gﬁﬁ)f ofm:membenS f
= Average X No 0§ membper = Total |
|
150 XS = 750 ¢ =760 ~604= 114 <m |
Total of bheighl oS Y membe “
=153 1150+ 15K IEL =606 cm

The average of 5 numbers is 25 and the average of another 5 numbers is 35. Find the
average of the 10 numbers taken together.

Ans. 9o, averoge of
Sum oS Mos = No X AlORHE ‘

- N = _
Sum of 1575 s =SX 25125 531*%;&,2 > 300 =30
Sum of omothesft Gmos =exac=175 ) V6
Sum of all 10 M5 =125 ¥\ 757306
c) Mini’s father earns on an average X 9800 a week. How much does he earn in52
weeks?

i Ans. AMETTLS | ®q 800
MINIS Sother CasnS oM AN avenage
= 39600 | |
How ~vmuch does he eans m 52 k43 © ¢ - »
WeeKE = 9600 A5 2

'S0, he fa9ins + 509600
1m 5 2. weeKs
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d) 8 students of a class went for medical checkup. The table bel

their weight and age. Find the average age and weight of the students

Name

Sonali

Vandana

| Age
| 11 years 10 months

" [ 12years
112 y;;r; 77'monthsﬁv

T [ 38ke

'Rohit
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ow shows the record of

[ weight

| 33kg

ETE

I

I

1iyears6months | 33ke
13 years “ 36kg

Shweté'

 Manik — 1zyears  |3%e
{

L 12 yea?s” ‘
| zakir 11 years 11 months [ 36kg ‘
1

{

3

|

{

T\/éibhav

|
38kg |
]

|13 years 2 months

, 1y |

Ans. Totol agl. :\\y—\O“m Fi2y + l').)/*“7‘m*ny 6m T \3)/*\2)” )/E[
413y 2m =ASx 36m =99 ’
AVe, oge =8y =8 =12 yeors © monihe ]
f

|

Iotad weight = 33+34138133 13612 TI6TI8 72 8o Kﬁ

Averape weight = _gsgsg =35.5 Ky

11.35, 12.65, 11, 7.25, 14.85, 15.55

 Avera€ = 7265
6

e) Find the average of
=12. 1]

Ans.

1. 35
12.65
(I
7. 25
1v.85
T 1595
72 £S
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